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CON) B =5 24,
D (N)——fF HePH By 2247 5
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QN)—HEEZHTFEFD, EHN—REHE,
F(M)——F2 i B iR 18 A5 0 BB I,
R{P)——#r IR E B TR &I 2 518,
3. #HBEmMAmE

M, N, H, E, P, N2, X(N), Y(N), Z(M)

4, WESRERE FMS,
5. EHEFHBIBIEGY, HBmBABIT AN RN, h GOSUB1000 $4%

=, FEF
1000 ‘BASIC, NEWTON

1005 READ M, N, H, E, P, N2
1010 DIM X(N), Y(N), Z(M), A(N), B(N), C(N), D(N), T(N),Q(N),
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1015
1016
1017
1020
1025
1630

1035
1040
1645
1050
1060
1065
1470
1075

1080
10856
1080
1095
1100
1110
1115
1120
1125
1130

1135
1140
1145
1150
1160
1165
1170
1175
1180

1185
1180

F(M), R(P)

FOR I=0 TO N:READ X(1):NEXT
FOR I=(0 TO N:READ Y(I):NEXT
FOR 1==0 TO M:READ Z(I):NEXT
FOR I=0 TO N
Q(I)=Y(I)

NEXT

GOSUB 1235

FOR I=9 TO N
A(I)=T{I):PRINTA(I}),
NEXT I
Ki=INT{(N2%.8)

IF No>K] THEN 19280
FOR I=0 TO N
Q(I)=A(T)

NEXT

GOSUB 1235

FOR I=9 TO N
B{(I)=T(I):PRINTB(I),
NEXT

K1=INT(N2%,9)

IF Np>K1 THEN 1280
FOR I=0 TO N
Q(I1)=B(I)

NEXT

GOSUB 1235

FOR I=0g TO N
C(I)=T(I):PRINTC(I),
NEXT

Ki=INT(N2%.9)

IF No>K1 THEN 1280
FOR J=0 TO N
Q{I)=C(I)

NEXT

GOSUB 1235

FOR =0 TO N



1195 D{D=T(I):PRINTD(I),
1200 NEXT

1210 K1=INT(N2% 9)

1215 IF No>K1 THEN 1280
1220 PRINT «UJ”?

1230 GOTO 1280

1235 N1=N1+1

1240 N2=N2~1

1245 No=0

1950 FOR I1=90 TO N2

1265 T{I)=0(T4+1)~-0(I)

1257 X1="T(1)

1260 IF ABS(T(I})>E THEN 1270
1265 No=No+1

1270 NEXT

1275 RETURN

1280 FOR J=0 TO M

1285 FOR I=¢0 TO N--1

1200 IF X(1)>Z(J) THEN 1325
1205 IF X(I+1) <Z(J) THEN 1315
1300 S=1

1305 R(1)=A(S)

1310 GOTO 1345

1315 NEXT

1325 PRINT «BUZI”

1330 STOP

1335 INPUT Z(J)

1340 GOTO 1285

1345 IF S+ Ni>N THEN 1370
1350 R(2)=B(S)

1355 R(3)=C(S)

1360 R{(4)=D(S)

1365 GOTO 1385

1370 R(2)=B(5-1)

1375 R(3)=C(5-2)

1380 R(4)=D(S5~3)

1385 K=1



1390 Hi=-1

1395 IF S4-N1>N THEN 1415
1400 F()=Y(S)

1405 T1=(Z(J)~-X(S))/H
1410 GOTO 1425

1415 F(J)=Y(541)

1420 T1=(Z(})—X(S+1))/H
1425 FOR 1=1 TO Nji

1430 IF S4+N1>N THEN 1445
1435 K=K%(T1—-141)

1440 GOTO 1450

1445 K=K%(T1+[—1)

1450 Hi=Hi1%I

1455 F(I)=F(J)+K/H1%R(I)
1460 NEXT I

1465 NEXT J

1470 FOR f=0 TO M:LPRINTF(I):NEXT
1475 RETURN

H.H B

1, SEFESN 1. =40004+k X500 B3 WiR ERE V. (Y MAGKIEL =B &
MBI ), k=0, 1, 2, oo, 14, REHRHES Z, CHBSEL X 825) 11 B XK
f(zi)‘:'? j=0’ 1, 2,

2. XBF

5 DATA 2, 14, 500, .1, 4, 14

10 DATA 4000, 4500, 5000, 5500, 6000, 6500, 7000, 7500, 8000, 8500, 9000,

8500, 10000, 10500, 11000
15 DATA 1,38, 1.48, 1,58, 1,69, 1,81, 1,94, 2.1, 2,28, 2.5, 2.76, 3.06,
3.41, 3,83, 4,33, 4,03

20 DATA 5200, 7200, 10700

25 GOSUB 1000

30 END

3. HEER

F(5200)=1.6228

F(7200)=2,1672

F{10700)=4,558
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2, FWEAKXWMT
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1, FAER

Ne— 5 SE B FR A £ A B —
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2. —¥4
X(N)——F b B A S,
Y(N)—% B8 E iR IES 5 LA EEUE,
U(M) ———4¢ HOB R0 5 Rh 25 258,
VIM)—# IR EER.

3. BARHAINE

N, M, X(N)s\Y(N)’ U(M) ’

4. HRSFREE VM4, , ,
5. HEEEFMBIBEMD, SEIREANFHHEER, f GOSUBLO0O #AHF#

=, FERF

1000 'LAGRANGE INSERT VALUE
1010 READ N, M

1020 DIM X(N), Y(N), U(M), V(M)
1030 FOR 1=0 TO N:READ X{(i):NEXT
1040 FOR I1=¢ TO N:READ Y(I):NEXT
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1050 FOR I=0 TO M:READ U(I):NEXT
1060 FOR K=p TO M

1070 FOR J=0 TO N

1080 L=1

1090 FOR 1=0 TO N

1100 IF I=J THEN 1120

1110 L=L % (U(K) ~X(I1))/{X(]) - X(I))
1120 NEXT 1

1130 V(K)=V(K)+LxY(})

1140 NEXT }

1150 LPRINT «V{ «K» y=% V(K)

1160 NEXT K

1170 RETURN

oo m
G R Ik 1~ 1 Bisw

-2 —0.4 0.2 i 4

24 —0,2688 ~0,0768 0 480

R x=—15, =1, ~0.2, 0, 0,4, 0.8, 1,5, 2 B Filey BB,
EEF '

5 DATA 4, 7

10 DATA -2, —.4 . 2, 1, 4, 24, —,2688, ~,0768, 0, 480
16 DATA —~1.5, ~1, ~.2, 0, .4, .8, 1.5, 2

20 GOSUB 1000

95 END

HESER

V(0)=5,625

V(1)=0

V(2)=—.0768

V(3)=0

V{4)=— 2688

V(5)=—.4608

V(6)=5,625

V(7)=24
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2, B4
A(N)——#7 BE S i £ 5 Y AL

Y (N)——#¢ TR B S dl i 25 A 33 PR P A
3, BIEHIAGF

N, X, A(N), Y(N)

4, CEBREMRBIEDD, HREIEPEFIGFA R GKE F, B GOSUB 1000 # &
TR
=, FERF
1000 AITKEN INSERT VALUE
1010 READ N, X
1020 DIM A(N), Y(N)
1030 FOR 1=0 TO N:READ A(I):NEXT
104¢ FOR 1=0 TO N:READ Y({):NEXT
1050 FOR J=0 TO N—1
106¢ FOR I1=J+1 TO N
1070 Y(I) ={(X—AJ))* Y(I)~(X—-A(ID*Y(J})/(A(1)-A())}
1080 NEXT 1, J )
1090 F=Y(N)
1100 LPRINT #F{#? X «)=» Y(N)
1110 RETURN

w'\ ﬁ E
1, REEHS

oo int
sin(x)=—{ HHar
J ¢ 1

W x=x,=0,462 B i,

B4
a;=0,3, 0,4, 0,5, 0,6, 0,7
y1=0,2985, 0,39646, 0,49311, 0,58813, 0,68122
N=y4
X=0.462
2, FER

5 DATA 4, 482
10 DATA 3, .4, .5 .6, ,7



15 DATA 2985, ,39646, ,49311, .58813, .88122
20 GOSUB 1000
25 END
3, HE&S%
F(.462)=,456558
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ZRIEE AR B R BB v (<),

2, fEAK
k+2 k42
y(x)= I (=)
iE’k i=k ( RERRL )Y
1%
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(0 L x<x, i
3 ﬁxs<x£xs+iv x—x\!sz”-—xﬁTj‘
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5—1 Hx . <(X<TX.o.y, X—X, < X5,y —X% B}
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3. *%gﬁ%ﬁ m--1 &Zx%%.ﬁ%ﬁxi('z:[)y 1, "ty m) Hff?ﬁtgﬂﬁ{ﬁ’ *gﬂ\)ﬁ'
BIRy B v =y(x:),

—., TREMEAMEA

1, FAEE
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Me——80 30 5 D s —
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X(N)——77 B 18 L& AU
Y(N)——Fp i iy A L R
UM) ~—7¢ g A 00 6



V(M)—— % BRI 5
3. BEHFIET
N, M, X(N), Y(N), U(M)

4. TEEBRTFHEIIEMD, RERHNMFAE REBWE S, & GOSUB 100015 4
RAY TR

=, ¥REF
1000 'LAGRANGE13 INSERT VALUE
1010 READ N, M
1020 DIM X(N), V(N), U(M), V(M)
1030 FOR 1=0 TO N:READ X(1):NEXT
1040 FOR [=0 TO N:READ Y(I1):NEXT
1050 FOR =0 TO M:READ U(I}:NEXT
1060 FOR L—p TO M
1070 FOR K= TO N—3
1080 1F U(L) «=X(X+1) THEN 1110
{1090 NEXT K
1100 K=N_—32
1110 IF K=¢ THEN 1140
1120 IF U(L)—X(K)>=X(XK+1)—~U(L) THEN 1140
1130 K=K}
1140 X0=X(K):X1=X(K+1):Xo=X(K+2)
1180 P=(U(L)—X1) % (U(L)—X2)/({X0— X1) % (X0—X2))
1160 Q=(U(L)~X0) % (U(L)—X2)/((X1—X0) % (X1—X2))
11760 R=(U(L)—X0) % (U(L) - X1)/({X2—X0) % (X2—X1))
1180 V(L)=P%Y(K)+ Q% Y(K+1)+R* Y(K+2)
1190 LPRINT «V(? L «)=» V(L)
1200 NEXT L
1210 RETURN

B =5
1. BEiam%inEi1-2 Bis
F1—2
x 0.2 0.24 ' 0,28 ’ 0.32 0.36 0.4
¥ I 0,19867 0,2377 J 0.27636 ' 0,31457 0,35227 0,38942




. R x=0,22, 0,29, 0,38 By {H,
3, EF
5 DATA 5, 2
10 DATA |2, .24, .28, .32, ,36, .4
15 DATA 19887, 2377, .27636, ,31457, .35227, 38942
20 DATA 22, .29, .38
25 GOSUB 1000
30 END
4, HESGR
V(0)=,218231
V(1)=.285955
V(2)=,370914
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2, WBEAX
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i=q j=p sv—-q ¥
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2. &4

X(N)—A H x J7 1 L £4 2 tiB RE &5 A0




